Problem 5. a: (10-pts)-Evaluate thefellowing-indefinite-integrals
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b. (10 pts) Find Y(X)such that y1=F and Y(0)=1

Problem-6—(10-pts-)-Suppose-that £(9=e%" —and #(0)=10
One—can—coencudefromthemearn—valuethesremthat

A< HBH<B
ferwhich-numbers-AandB?
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Problem 4. (15 pts.) A rocket is launched straight up, and its altitude is b = 10t2 feet after ¢
seconds. You are on the ground 1000 feet from the launch site. The line of sight from you to the

rocket makes an angle # with the horizontal. By how many radians per second is # changing ten
seconds after the launch?
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Problem 6. (10 pts.) Suppose that f'(z) = e, and (0} = 10. One can conclude from the mean
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for which numbers A and B?
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Problem 5. a. (10 pts) Evaluate the following indefinite integrals
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b. (10 pts) Find (z) such that o/ = % and y(0) =1
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